
ROFROST Turbo R290

No. 1500003000, 1500003001

Stand: 06/20

1

www.rothenberger.de


ROFROST Turbo R290

No. 1500003000, 1500003001

Stand: 06/20

Item no. Description Article no. Quantity Price (€)

1 Cover plate black Rofrost Turbo R290 1500003212 1 64,95

1.1 Sticker for cover plate Rofrost R290 1300005360 1 9,45

2 Clamp screw with thermometer Rofrost F86660 2 35,75

2 Clamp screw cpl. Rofrost R290 1 1/4" 1500003213 2 49,95

3 Plastic Padding Rofrost Turbo1 1/4" - 2" 1500000984 1 29,00

4 Switch with signal lamp F86265 1 8,75

5 Power Cord 230V Rofrost Turbo 1500000816 1 14,50

6-15 Reduction inserts 35mm / 1.3/8" (Gr. XII) 62216 1 63,95

6-15 Reduction inserts 16mm / 5/8" (Gr. IV) 62219 1 63,95

6-15 Reduction inserts 2" 28mm / 3/4" (Gr.A) 62231 1 85,95

6-15 Reduction inserts 2" 32mm / 1.1/4" /1" (Gr.C) 62233 1 85,95

6-15 Reduction inserts 2" 1.1/2" (Gr.F) 62236 1 85,95

6-15 Reduction inserts 2" 42mm /1.1/4" (Gr.E) 62235 1 85,95

6-15 Reduction inserts 2" 35mm / 1.3/8" /1" (Gr.D) 62234 1 85,95

6-15 Reduction inserts 28mm (Gr. IX) 62215 1 63,95

6-15 Reduction inserts 2" 1.1/8" (Gr.B) 62232 1 85,95

6-15 Reduction inserts 14/15mm /1/4" (Gr.III) 62212 1 63,95

6-15 Reduction inserts 22mm / 7/8" (Gr.VII) 62214 1 63,95

6-15 Reduction inserts 12mm / 1/2" (Gr.II) 62211 1 63,95

6-15 Reduction inserts 18mm / 3/8" (Gr. V) 62213 1 63,95

8 Tube Kit 2" cpl. without therm. 1500003481 1 238,95

8 Tube Kit 1 1/4" cpl. without therm. 1500003480 1 198,95

9 manual ROFROST Turbo R290 1300005359 1 a. A.

16 Housing Rofrost Turbo R290 preassembled 1500003211 1 198,45

18 Axial blower Rofrost Turbo R290 230V 1500003210 1 49,95

19 Repair set rubber foot Rofrost 1500000812 1 2,55

22 Mounting set for cover 1500000815 1 5,15

23 Heat conductive paste 150ml 62291 1 15,50

WICHTIG! Um die Sicherheit und Zuverlässigkeit des Produktes zu erhalten, dürfen Reparaturen, Überholungs- und

Einstellarbeiten nur von ROTHENBERGER Kelkheim oder autorisierten Service-Werkstätten ausgeführt werden.

Verwenden Sie nur Original-Ersatzeile. Bestellen Sie Ihre Zubehör und Ersatzteile bei Ihrem Fachhändler oder nutzen

Sie die Online Bestellplattform über RoService+. Bei Rückfragen stehen wir gerne zur Verfügung.

Tel. +49 6195 - 800 8200 

Fax: +49 6195 - 800 7491 

  service@rothenberger.com

Powered by TCPDF (www.tcpdf.org)

2

mailto: service@rothenberger.com 
http://www.tcpdf.org
www.rothenberger.de

